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(I)opMa OLCHOYHOI'0 MaTepuaJa Ijd JMarHoCTU4€CKOro TeCTupoBaHnus
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Kadenpa-pazpaboTunx

JIMHITBUCTUKHU U IICPEBOAOBCICHUS

Brimyckaromias kadenpa

MEINKO-ONOJIOTUYECKUX OCHOB (PU3NYECKOM KYIbTYphI

IIpoBepsiemast 3ananue BapuaHnTbl oTBeTOB Tun Kou-Bo
KOMIICTCHIUA CJI0KHOCTH 0aJ1J10B 32
BOIPOCA NpaBUJIbLHBIA
OTBET
YK-4.2 OnnHOYHBIH BHIOOP Huskui 2 0aj11a
YK-4.3 1. Fill in the gap. Choose the correct answer:
A designates the edges of a | a) soccer cleats
soccer field. b) jersey
c) corner flag
d) net
YK-4.2 OauHOYHBIN BBIOOP Hwu3zknit 2 dan1a
YK-4.3 2. Fill in the gap. Choose the correct answer:




Players who want to give the ball to a

teammate must the ball. a) head
b) throw in
C) Cross
d) pass
YK-4.2 OnnHO4YHBbIH BHIOOP Huzkui 2 0aj11a
YK-4.3 3. Fill in the gap. Choose the correct answer:
The coach showed the players where to a) backboard
stand on this b) play board
c) basketball shoes
d) ankle braces
YK-4.2 OnnHOYHBIH BHIOOP Huzkmnii 2 6asna
VYK-4.3 4. Fill in the gap. Choose the correct answer:
The is in the middle of the court. | a) three-point line
b) half-court line
C) center circle
d) free throw line
YK-4.2 OnuHOYHBIH BBIOOP Huszknit 2 0ajL1a
YK-4.3 5. Fill in the gap. Choose the correct answer:

A is often the tallest member of the

team.

a) center

b) frontcourt




c) lineup
d) backcourt

YK-4.2 Br100op nponyuieHHbIX CJI0B Cpennuit 5 dayioB
YK-4.3 6. Complete the text with the following

words. There is one extra word: a) goal line

A soccer field has a [1] of 100 to 130 b) penalty box arc

yards. The width is 50 to 100 yards. The |c) center circle

penalty box and the [2] are marked in d) touch line

front of the goal. Both of these touch the | e) penalty spot

[3]. The [4] extends from the top of the | f)  goal box

penalty box. The [5] is centered in front

of the goal.
YK-4.2 Br100p nponyiieHHbIX CJI0B Cpennnii 5 6as10B
YK-4.3 7. Complete the sentences (1-5) with the

words (A-E).
1) The [1] extends across the center of the
field.
2) Each [2] measure 1 yard in radius.
3) The [3] is located in front of the penalty
box.
4) Penalty kicks are taken from the [4].

a) penalty box arc
b) halfway line

C) corner arc

d) penalty spot

e) center circle




5) [5] reaches ten yards on either side of the

halfway line.
YK-4.2 Ha coorBeTcTBHE Cpennmnii 5 0asIoB
YK-4.3 8. Match the word (1-5) with the definitions
(A-E):
1) soccer field a) the longest side of a soccer field
2) goal line b) the field on which soccer is played
3) penalty box c) the line on the field where each goal is
4) touch line located
5) goal box d) the area in which a goalkeeper can
touch the ball with his or her hands
e) the area where a goal kick is taken from
YK-4.2 Ha cooTBeTcTBHE Cpennnii 5 oanioB
VYK-4.3 9. Match the word (1-5) with the definitions

(A-E):
1) perimeter
2) restricted area arc
3) center circle
4)  basketball court

5) half-court line

a) aplace where basketball is played
b) a line indicating the outside line of a
court

c) aline in the middle of the court

d) acurved line four feet from the
basket

e) aspace in the middle of the court




YK-4.2 OuHOYHBIN BHIOOP a) International Federation of Cpennmii 5 6anioB
10. Choose the correct explanation of the | Association Football
abbreviation FIFA b) International Federation of Action
Football
c) Important Federation of Association
Football
d) International Federation of
Australian Football
VYK-4.2 OauHOYHBI BHIOOP a) Unique of European Football Cpennmnii 5 danoB
11. Choose the correct explanation of the | Association
abbreviation UEFA b)  Union of East Football Association
c) Union of European Football
Association
d) Union of European Baseball
Association
VK-4.2 OMHOYHBIN BLIGOP a) Past Simple Cpenunii 5 6a/L10B

12. Choose the tense form of the verb in the
sentence:
Many Americans play a lot of basketball for

exercise and recreation.

b) Present Simple
c) Present Continuous

d) Past Continuous




YK-4.2 Bce win Hnuero Cpennmnii 5 0as10B
13. Choose the correct answer:
1) There a man in the room. a) is/are
2) There lamps on the table. b) is/are
3) There a table and some chairs | c) is/are
in the room.
4) There some balls and a basket | d) is/are
in the gym.
5) There a tennis court in this e) is/are
sport centre.
YK-4.2 Bce wim Huuero Cpennmii 5 6as10B
14. Choose the correct answer:
1) Heasked me _ questions. 1) some/any
2) We havegot _ dictionaries. 2) some/any
3) Arethere _ new students in your 3) some/any
group? 4) some/any
4) Giveme ___ bread, please! 5) some/any
5) Have yougot  books?
YK-4.2 Bce nim HH4ero Cpennuii 5 6annoB

14. Match sentences (1-5) with words (A-E):

1) You spend too (mHoro) time on
this game.

2) He has (muoro) friends there.

a) many

b) little




3) Give me (memHoro) water, c) a little
please.
4) I have _ (meckosabko) books onthis | d) much
subject.
5) I've got (memocTatouHo) time. e) a few
YK-4.2 YnopsizoueHue Boicokmii 8 bas10B
16. Put the words into the correct order: that summer/ isn’t summer/ without
cricket/ They think
YK-4.2 YnopsizoueHue Boicokmii 8 das10B
17. Put the words into the correct order: the English/ in summer/ Cricket is/
national sport
YK-4.2 Ynopsinouenue Broicokmii 8 6as10B
18. Put the words into the correct order: are designed/ different people/ These new
exercises/ to suit/ the needs of
YK-4.3 MHO:KeCTBEHHbII BHIOOP: a) to hit (a ball) without much force Boicokuii 8 6aJjiI0B

19. Choose all the definitions of word ‘fo
dribble’

so that it bounces slowly along
the ground
b) to move a ball along by using
your hand to hit it against the
ground or Kicking it several times
c) tothrow or hit a ball or puck to a

teammate




d)

to propel by successive slight taps
or bounces with hand, foot, or
stick

YK-4.3

MHokecTBeHHBbIH BbIOOP:
20. Choose all the definitions of word ‘7o

support’

to like a particular sports team
and want them to win

to have in control

to agree with an idea, group, or
person

to assist, to help

Bricokuit

8 dass10B




(I)opMa OLCHOYHOI'0 MaTepuaJjJa JJid JHArHOCTHYIECKOI'0 TECCTUPOBAHUSA

TecToBO€ 3a7aHMe JJIs1 JUATHOCTHYECKOTO TECTUPOBAHUSA IO TUCHHUIIIMHE:

Hnocmpanuwiil sa3vik 8 npogeccuonanvrol cghepe, cemecmp 6

Kon, nanpaBnenne

49.03.03 PEKPEALIA U CITOPTUBHO-

MOJITOTOBKH 03I0POBUTEJILHBIN TYPU3M
HamnpasnenHocTs CriopTHBHO-03/10POBUTEIBHBIN TYPU3M
(mpoduib)

dopma 00ydeHus OYHas

Kadenpa-pazpaboTunx

JIMHIBUCTUKHU U IIEPEBOAOBCICHUSA

Brimyckaromras kadenpa

MEJMKO-OHNOJIOTUYECKUX OCHOB (PU3UUECKON KYJIbTYpHI

IIpoBepsiemast 3ananue BapuanTbl oTBeTOB Tun Kou-Bo
KOMIIETCHIUA CJI0KHOCTHU 0aJ1J10B 32
BOIIPOCA NpaBUJIbLHBIA
OTBET
YK-4.2 OnnHOYHBIH BHIOOP Huskui 2 0aj11a
YK-4.3 1. Fill in the gap. Choose the correct answer: | a) try line
When players pass the , play b) maximum
stops. c) dead ball line
d) exceed
YK-4.2 OauHOYHBIN BBIOOP Hwu3zknit 2 dan1a
YK-4.3 2. Fill in the gap. Choose the correct answer: | a) prop

A links the backs and forwards.

b) scrum half




c) hooker

d) fly half
YK-4.2 OnnHO4YHBbIH BHIOOP Huszkuni 2 0ajL1a
YK-4.3 3. Fill in the gap. Choose the correct answer: | a) break
Trauma to the head cancausea . b) ligament
c) bone
d) concussion
YK-4.2 OnnHO4YHBbIH BHIOOP Huzkui 2 0aj11a
YK-4.3 4. Fill in the gap. Choose the correct answer: | a) teeing ground
is the area from which the ball is | b) water hazard
first hit. C) cup
d) fairway
YK-4.2 OnnHOYHBIH BHIOOP Huzkmnii 2 6asna
YK-4.3 5. Fill in the gap. Choose the correct answer: | a) club
Some golfers prefer to ride a b) wood
between shots or holes. c) divot tool
d) golf cart
YK-4.2 Br100p nponyumeHHbIX CJI0B Cpennmii 5 0anoB
YK-4.3 6. Complete the dialogue with the

following phrases. There is one extra
phrase:

New Fan: This field looks a little too big,
doesn’t it?
Old Fan:1)
New Fan: Well, look at the in-goal area. It’s
huge.

a) Is that the only difference?
b) Do you watch rugby union or rugby

league?




Old Fan: Oh, wait. 2)
New Fan: This is my first rugby league
game. 3)
Old Fan: Well, the rugby union field is
longer. And it has a bigger in-goal area.
New Fan: | see. 4)
Old Fan: Oh, no. There’s lots of differences.
But 5)

c) players score points the same way in
each version

d) I just got into rugby.

e) Does it? It looks right to me.

f) the longest side of a soccer field.

YK-4.2 Bb100op nponyuieHHBIX CJI0B Cpennuit 5 basnoB
YK-4.3 7. Complete the dialogue with the
following phrases. There is one extra
phrase:

Coach: Hi, Jen. How is Jerome doing? a) he’d be back sooner

Trainer:1) . The fracture . . .

is mostly healed, b) Anything but light exercise could

Coach: That’s great! 2) reinjure his shoulder.

a?rl]?ﬁ;: He won’t be ready for a few more ¢) I’d limit him to light exercise.

Coach: Too bad. | hoped 3) d) He’s doing much better.

Can he work out with the team? &) And it has a bigger in-goal area

Trainer: Well, the bone is still weak. 99 g '

4) f) When will he be back in practice?

Coach: So he can’t lift weights?

Trainer: Oh, no. 5)
YK-4.2 Ha cooTBeTcTBHE Cpennuii 5 6amioB
YK-4.3 8. Match the word (1-5) with the definitions

(A-E):
1) rugby league
2) pitch

3) twenty two

a) the location where play is restarted
b) the goal line
¢) atype of rugby with 13 players per team




4) rugby union

d) atype of rugby with 15 players per team

5) try line e) the rugby field
YK-4.2 Ha coorBeTcTBHE Cpennnii 5 oanioB
YK-4.3 9. Match the word (1-5) with the definitions
(A-E):
1) full back a) a player that makes scoring attempts
2) wing b) the player that lines up in the second
3) blind-side flanker row
4) lock c) a player several meters behind the back
5) fly half row
d) a player that is a good kicker
e) a player in the back row
YK-4.2 Ha cooTBeTcTBHE Cpennnii 5 oanioB

10. Match the words (1-5) with the
definitions (A-E):
1) penalty
2) conversion
3) set piece
4) ruck
5) try

a) a formation that takes place after a
tackle

b) a scoring attempt after a try

c) a way to resume play

d) a five point score

e) an infraction of the rules




YK-4.2 Ha cooTBeTcTBHE Cpennmnii 5 o0anioB
11. Match the words (1-5) with the
definitions (A-E):
1) cut
2) bruise a) to cause damage to capillaries
3) twist b) a joint injury caused by overstretching
4) concussion c) a brain injury caused by impact
5) sprain d) a skin wound from a sharp object
e) to injure by rotation or turning
YK-4.2 OauHOYHBIH BHIOOP Cpennuii 5 6amnoB
12. Choose the correct form of the adjective
in the sentence:
The Volgais __ thanthe Mississipi. | a) short
b) more short
c) shorter
d) shortest
VK-4.2 OMHOYHBIN BLIGOP a) Past Simple Cpenunii 5 6a/u10B
13. Choose the tense form of the verb inthe | b) Present Simple
sentence: c) Present Continuous
John and Mary were watching a game at the | d) Past Continuous
stadium.
YK-4.2 Bce niu Huuero Cpennuit S Oamnos

14. Match sentences (1-5) with words (A-E):

1)1 (mory) doit.

a) might




2) Granny, (moxxno) | eat all of it?
3) Mother told me |
it into three equal parts.

(momxua) cut

4) You (mor 6m1) play better!
5) 1| (mor) swim in that swimming

pool last year.

b) may

c) could

d) must

e) can

YK-4.2 OauHOYHBIN BBIOOP Cpennuit 5 basnoB
15. Choose the correct form of the adjective
in the sentence:
This book is than that one. | a) interestinger
b) more interesting
c) interesting
d) the most interesting
YK-4.2 Ynopsinouenue Bricoxuit 8 dass10B
16. Put the words into the correct order: the most beautiful / is one of / cities in
the world / St Petersburg
YK-4.2 Ynopsiiouyenue Bricoxnii 8 0a10B
17. Put the words into the correct order: were / The questions / that / could answer
/ so easy / them / everybody
YK-4.2 Ynopsinouenune Bricoxmii 8 0ass10B

18. Put the words into the correct order:

worse / He / than / is playing / usual




YK-4.3

MHokecTBeHHBbIH BbIOOP:

19. Choose all the definitions of word “net”

a) is a piece of fabric or metal mesh that
hangs from a basketball rim to help
determine if shots go in the hoop

b) is the outer edge of a basketball hoop
c) is the part of the goal that the ball is
kicked into, and indicates if a goal has
been scored or not.

d) a device for catching fish, birds, or

insects

Bricokuii

8 d0asL10B

YK-4.3

MHoKecTBEeHHbIN BbIOOP:
20. Choose all the definitions of word
“offside”

a) is a rugby player who is ahead of the
player who has the ball

b) a player is in a position, usually ahead
of the ball, that is not allowed

c) illegally in advance of the ball or puck

d) is awarded when a rule is violated

Bricoxkuit

8 6aa0B




(I)opMa OLICHOYHOTI0 MaTepuaJjJa JJid THArHOCTHYIECKOI'0 TECCTUPOBAHUSA
TecToBO€ 3a7aHMe JJIs1 JUATHOCTHYECKOTO TECTUPOBAHUSA IO TUCHHUIIIMHE:

Huocmpannwiii 361k 6 npogeccuonanvroli cgpepe, cemecmp 1

Kon, nanpaBnenne 49.03.03 PEKPEALIMA U CTIIOPTHMBHO-

MOJITOTOBKH O3I0POBUTEJILHBIN TYPU3M
HamnpasnenHocTs CropTHBHO-03/10pOBUTENBHBIN TYPU3M
(mpoduib)

®dopma 00ydyeHus OYHas

Kadenpa-pazpaboTunx JUHTBUCTUKH U TIEPEBOIOBEICHUS

Brinmyckaromast kagenpa MEINKO-ONOJIOTUYECKUX OCHOB (PU3NYECKOM KYIbTYpbI

IIpoBepsiemast 3ananue BapuanTbl oTBeTOB Tun Kou-Bo
KOMIIETCHIUA CJI0KHOCTH 0aJ1J10B 32
BOIIPOCA NpaBUJIbLHBIH
OTBET
YK-4.2 OnnHOYHBIH BHIOOP Huskui 2 0aj11a
YK-4.3 1. Fill in the gap. Choose the correct answer:
A is a special hockey stick used | a) blocker
only by goalies. b) hockey stick
c) catch glove
d) goal stick
YK-4.2 OauHOYHBIN BBIOOP Hwu3zknit 2 dan1a
YK-4.3 2. Fill in the gap. Choose the correct answer:




That has not scored a goal in three

a) forward

games. b) penalty box
c) rink
d) goalie
YK-4.2 OnnHO4YHBbIH BHIOOP Huskunii 2 0ajL1a
YK-4.3 3. Fill in the gap. Choose the correct answer:
One way to move the ball around the field is | a) flick
to it. b) side-in
C) push
d) free hit
YK-4.2 OnnHOYHBbIH BHIOOP Huzkui 2 0aj11a
YK-4.3 4. Fill in the gap. Choose the correct answer:
The person on the opposite team from you is | a) scoop
your b) opponent
) mark
d) tackle
YK-4.2 OnHOYHBIH BHIOOP Huskui 2 0aj11a
YK-4.3 5. Fill in the gap. Choose the correct answer:
The side of the pitch to the left of aright- | a) off side
handed batter is the b) leg side
¢) bowling end
d) batting end
YK-4.2 Bp100op nponyueHHbIX CJI0B Huzkmii 2 daq1a

YK-4.3




6. Complete the dialogue with the
following phrases. There is one extra
phrase:
Assistant: First, we did some (1) .

Coach: Oh, good. Did you work on shooting

from the edge of the (2) ?
Assistant: Yeah, that’s mainly what we
practiced. I think that’s a (3) we
have.

Coach: 1 (4) . How did everyone
do?

Assistant: They showed a lot of
improvement. We practiced (5) and
16-yard hits, too.

Coach: That’s awesome! What else did you
do?

Assistant: Well, we didn’t get a chance for a

scrimmage. We ran

a) practice shooting
b) definitely agree
c) lost my head

d) long hits

e) weakness

f) striking circle

YK-4.2
YK-4.3

Br100p nponyueHHbIX CJI0B
7. Complete the dialogue with the
following phrases. There is one extra
phrase:
Beginner: Wow! That was an amazing game.

(D on your win.

a) takes a lot

b) returning serves

Cpennuii

5 daauoB




Professional: Thanks a lot! Do you play (2)
?

Beginner: I'm learning. Tell me something,

how did you get so great at (3) ?
Professional: Well, it just (4) of
practice.

Beginner: Oh, I practice every day. I'm
wondering if you have any (5) ,
though.

Professional: Let’s see. | would say be
aggressive whenever possible. Don’t simply

react. Think where the ball might go.

c) specific advice
d) table tennis
e) is started with

f) congratulations

YK-4.2
YK-4.3

Ha cooTBercTBHE
8. Match the words (1-5) with the definitions
(A-E):
1) the mark drawn 30 yards around the center
of the pitch
2) the area of the field inside the circle
3) the area of the field enclosed with a dotted
circle
4) the edge of a cricket field
5) the rectangular area at the center of a

cricket field

a) boundary
b) infield

c) pitch

d) circle

e) close infield

Cpennuii

5 0anuaos




YK-4.2 Ha cooTBeTcTBHE Cpennmnii 5 o0anioB
YK-4.3 9. Match the word (1-5) with the definitions
(A-E):

1) A s the traditional headwear worn | a) boundary rope

by cricket players. b) bail

2) A___ isworn by a batter to protect his | c) glove

or her fingers from the ball. d) cricket cap

3) A___ isapiece of protective equipment | e) helmet

worn by batters and some fielders.

4) The __ goes over the wicket.

5) The edges of a cricket field are marked by

the
YK-4.2 Ha cooTBeTcTBHE Cpennnii 5 oanioB

10. Match the words (1-5) with the
definitions (A-E):

1) a player who runs between wicket
2) a player who is comfortable playing as a
bowler or a batsman
3) a player who plays in a defensive position
on the field
4) a player who replaces an ill or injured
team member
5) the member of a team who decides a

team’s batting order

a) fielder
b) captain
C) runner
d) substitute

e) all-rounder




YK-4.2 Ha cooTBeTcTBHE Cpennmnii 5 o0anioB
11. Match the words (1-5) with the
definitions (A-E):
1) a point awarded when a bowled ball is a) illegitimate
illegitimate b) dismiss
2) to play in the field as opposed to bowling | c) extra
or batting d) over
3) a segment of a cricket game in which six | e) field
balls are bowled
4) being bowled outside of designated
creases or so that the batter cannot hit it
5) to cause a batsman to be out by any
method
VYK-4.2 OMHOYHBI BHIOOP a) Past Simple Cpenunii 5 6a/u10B
12. Choose the tense form of the verb in the | b) Present Simple
sentence: c) Present Continuous
Many Americans play a lot of basketball for | d) Past Continuous
exercise and recreation.
YK-4.2 13. Choose the correct question word: Cpeanmii 5 6a10B

1) did you go swimming?
2) did you go swimming?

3) did you go swimming with?

a) who
b) which

c) where




4) time did you go swimming? d) why
5) pool did you go in? e) what
YK-4.2 14. Choose the word to fill the gaps: Cpennmii 5 6ajioB
1. 'mreally busy  morning. a) this / that / these / those
2. cake you made last week was b) this / that / these / those
delicious. c) this / that / these / those
3. Let me introduce you. Sue, ___isTom. | d) this/ that/ these / those
4. I’'m going to take back _ shoes | e) this / that / these / those
bought last week.
5. Areyou goingtowatch _ DVDs
with us?
VYK-4.2 15. Match the words (1-5) with the Cpennmii 5 faJjiioB

definitions (A-E):
1. Athletes race in the water.
2. A team sport with six players on each
side. You hit the ball over the
net with your hands.
3. Two people fight just using their hands.
They wear special gloves.
4. A long-distance running race. It’s
42.195km!
5. A team sport. You have to move the ball
into the opponent’s goal

with a stick.

a) Boxing
b) Hockey
c) Swimming
d) Volleyball

e) Marathone




YK-4.2 16. Put the words into the correct order: | / came/ so proud of/ together/ how the Bbicoknii 8 6asoB
team/ to win/ was /
YK-4.2 17. Put the words into the correct order: on the fifth/ birdie/both/ made/ but/ Bbicoknii 8 6a10B
Stricker made/that was/ the last birdie/
YK-4.2 18. Put the words into the correct order: football/a lot of/ obsession with/ people Bobicokmii 8 6asi0B
in England/ a very strong/have/
YK-4.3 19. Write the preposition to fill the gaps. Bobicokmii 8 6asi0B
1. | finish schoolearly _ Wednesdays. | a)on/in/at
2. Are you going to work the b)on/in/at
summer holidays? cyon/in/at
3. I only ever see my cousins d)on/in/at
Christmas. e)on/in/at
4, the past, you couldn’t buy flon/in/at
such a variety of different foods. g)on/in/at
5. What shall we do the weekend? | h)on/in/at
6. Mobile phones were invented
the 80s.
7. My exam is 7th June.
8. I’'m having my first guitar lesson
Friday afternoon.
YK-4.3 1. When | was a child, my hair used to be Boicoxnii 8 6as0B

much blonder than now.

a) Correct / Incorrect

b) Correct / Incorrect




2. | never used to go to football. I hate it. | c) Correct / Incorrect

can’t understand why people like it. d) Correct / Incorrect

3. 1 used to like his music before he went all

hip-hop. But now ... !

4. We used to visit my grandmother every

weekend. | love listening to her

stories.

<I)0pMa OLCHOYHOI0 MaTepuaJjJa JJd ITHArHOCTHYICCKOI'0 TECTUPOBAHMSA

TecToBOoe 3a7aHue JJI51 JUATHOCTHYECKOI0 TECTUPOBAHUSA MO JUCHUILJIMHE:

Hnocmpannwlil a3vik 6 npogeccuonanvholl cghepe, cemecmp 8

Kon, nanpaBnenne

49.03.03 PEKPEALINA Y CIIOPTUBHO-
O3/1J0POBUTEJIbHBIN TYPU3M
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(mpoutb)

dopma o0ydeHHs O4Has
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YK-4.2 OnnHO4YHBbIH BHIOOP Hu3kuit 2 0ajL1a
YK-4.3 1. Fill in the gap. Choose the correct answer:
It's a good thing that the stopped | a) rink
the shot from entering the goal. b) goalie
C) penalty box
d) forward
YK-4.2 OnnHO4YHBbIH BHIOOP Huzkui 2 0aj11a
YK-4.3 2. Choose the correct answer:
Which of the following is NOT a way that a | a) win
cricket match can end? b) draw
c) tie
d) all out
YK-4.2 OnnHOYHBIH BHIOOP Huzkmnii 2 6asna
VYK-4.3 3. Fill in the gap. Choose the correct answer:
The __ canhold 80,000 people. a) team
b) season
c) stadium
d) competitors
YK-4.2 OnuHOYHBIH BBIOOP Huszknit 2 0ajL1a
YK-4.3 4. Fill in the gap. Choose the correct answer:

The British football begins in August

and ends in May.

a) team
b) season
¢) stadium

d) competitors




YK-4.2 OnnHO4YHBbIH BHIOOP Hu3kuit 2 0ajL1a
YK-4.3 5. Fill in the gap. Choose the correct answer:
His brother had great football : a) skills
b) league
C) competitors
d) defeat
YK-4.2 Bb100op nponyuieHHBIX CJI0B Cpennuit 5 basnoB
YK-4.3 6. Complete the dialogue with the
following phrases. There is one extra
phrase:
An [1] in cricket lasts until it's a) declaration
closed. An innings is closed when a b) battin
team is [2] or when the batting g
team makes a [3] forfeiting the C) innings
rest of their innings. d) follow on
Teams alternate between batting and
bowling in innings, unless one team calls e) all out
for a[4]. This means that a team
postpones their own second round of
[5] and forces the opposing team
to bat two innings in a row.
YK-4.2 7. Complete the text with the following Cpeanmii 5 6annoB
i phrases:
YK-4.3 In 490 BC there was a big war between the | a) 40
Persians and the Greeks. Persia wanted to b) Marathon
capture Athens. The Persians arrived at
Marathon in Greece. They had more [1] than | ¢) two
the Greeks. The Greeks sent a messenger to d) died
Sparta to get help. The messenger ran for [2]
days over the mountains of Marathon to | e) soldiers

Sparta. The Spartans couldn't help and the




messenger ran back to [3]. The Greeks and
Persians fought, and the Greeks won. The
messenger ran to Athens to tell everybody
that the Greeks had won. He ran more than
[4] kilometers to Athens, and then he [5].
This was the first

marathon.

YK-4.2 OauHOYHBIN BBIOOP Cpennuit 5 basnoB
YK-4.3 8. Choose the correct answer: a) How big
Alex: I’d like to make a cake. eggs | b) How much
have we got? Andrea: Three, | think. Let me ¢) How man
check. y
d) How long
YK-4.2 OauHOYHBIH BHIOOP Cpennuii 5 6asnoB
VYK-4.3 9. Choose the correct answer:
David: Have you that new film yet? a) see
Susanna: No, I haven’t. We could go on b) saw
c)seen
Thursday if you like? d) seeing
YK-4.2 OnnHOYHBIH BHIOOP Cpennnii 5 0a10B
10. Choose the correct answer:
Saif: Why do you like running? a) best
Isabella: Because it’s way to keep fit. b) better
c) the best
d) the better
YK-4.2 OauHOYHBIN BHIOOP Cpennuit 5 6anoB

11. Choose the correct answer:

a) in




b) on

Manager: Where’s Mr Davidson? c) to
d) at
Assistant: Oh, he’s London today.
YK-4.2 OauHOYHBIN BBIOOP Cpennuit 5 basnoB
12. Choose the correct answer:
Nicola: I love this picture, but won’t it cost a | a) whose
fortune? b) which
Victor: No, it’s just a copy. The original, c) whom
is a portrait of the artist’s friend, sold | d) that
for €4 million!
YK-4.2 OauHOYHBIH BHIOOP Cpennuii 5 6amnoB
13. Choose the correct answer:
Charlotte: I saw the photos from the film | a) Not
festival. Was that you with the actor from b) Much
c) Hardly
The Hobbit? d) Little
Niall: Yes, it was! did I imagine |
would ever actually meet him.
YK-4.2 OnuHOYHBIH BBIOOP Cpennuii 5 6amioB
14. Choose the correct answer:
Laura: I can’t believe how talented this artist | a) Since
was. b) Besides
c¢) Although

d) Therefore




Emily: I know, it’s amazing. he was
almost 90 when he did them, his paintings
are beautiful.

YK-4.2 OauHOYHBIN BBIOOP Cpennuit 5 basnoB
15. Choose the correct answer:
Wife: Have we got any cheese in the fridge? | a) go
Husband: No, we haven’t. 'm___ buy | Db)goto
some this afternoon. C) going
d) going to
YK-4.2 Bce nim Hu4vero Boicokmnii 8 6a/10B

16. Match the words (1-8) with the
definitions (A-H):
1) body check
2) slap shot
3) rink
4) penalty box
5) period
6) defenseman
7) faceoff

8) center line

a) a frozen body of water where people
can skate and play ice sports

b) an area where players in violation of
certain rules are sent for an allotted
period of time

c¢) when players from opposite teams
compete for a dropped puck

d) a player on the team who helps prevent
the other team from scoring

e) a set amount of time the players have

to play




f) to use one's shoulder to hit an opponent
in possession of the puck in order to gain
control of the puck

g) a line on the rink that is used for face-
offs and determining calls on icing and
offside

h) a difficult shot that is made by a

powerful downward swing used for extra

speed
YK-4.2 Bce nim Hu4vero Boicokmnii 8 6a/10B
17. Match the words (1-8) with the
definitions (A-H):
Natalia: My new smartphone doesn’t seem
to work. a) up
Katie: Oh dear! Perhaps you should take b) out
it and ask for a refund. c) away
d) back
YK-4.2 18. Put the words into the correct order: his / skills / brother / football / had / great Bobicokmnii 8 6aJji0B
YK-4.3 19. Put the words into the correct order: open / was / the / only / amateurs / Bbicokmii 8 0aji0B
competition / to
YK-4.3 20. Put the words into the correct order: is / tournament / Wimbledon / June / held Boicokuii 8 6as0B

/ every [/ tennis




